Unit 4: Measurement (time)
Year 5, Unit 4, Week 3, Lesson 4
Problems involving time (2)
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National Curriculum attainment target
• Use all four operations to solve problems involving measure, including scaling
Lesson objective
• Use all four operations to solve problems involving
time, including scaling



Previous related lessons
Unit 4, Week 3, Lesson 1; Unit 4, Week 3, Lesson 2;
Unit 4, Week 3, Lesson 3
Prerequisites for learning
Pupils need to:
• convert between units of time
• convert between analogue and digital 24-hour clocks to
solve problems
Vocabulary
second (s), minute (min), hour (h), day, week, month

Future related lessons
none
Success criteria
Pupils can:
[image: ]• use all four operations to solve problems involving time,
including scaling




Getting Started
• Choose an activity from Measurement (time).

Year 5, Unit 4, Week 3


Teach
• Ask: How many days are there in one week? (7 days)
…in 2/4/8 weeks? (14/28/56 days)
• Ask: Who can think of a quick way to find the answer to the number of days in two, four and
eight weeks? Elicit that the answers involve doubling the number each time.
• Ask: How many months are there in one year? (12 months)
[image: Description: publishing$:TYPESETTING:Project Code:Harpercollins:PDF to Word files:Busy_Ant_Maths:INPUT:Sample:Icons:jpeg:1 copy.jpg]• Say: Tell your partner how many months there are in two, four and eight years.
(24, 48, 96 months)
• Ask: Who can tell me how many weeks there are in ten years? (520 weeks)
[image: Description: publishing$:TYPESETTING:Project Code:Harpercollins:PDF to Word files:Busy_Ant_Maths:INPUT:Sample:Icons:jpeg:4 copy.jpg]• Ask: How many weeks are there in five years? (260 weeks) How did you find your answer?
(by halving 520)
• Write on the board: 1 hour 8 minutes.
• Say: The bus journey between two towns takes one hour and eight minutes. In one shift, the
driver makes two return journeys between these towns. Ask: How long does he spend driving?  (4 h 32 min)
• Write on the board: 1 hour 18 minutes.
• Say: A different bus journey between two towns takes one hour and eighteen minutes. In one
shift, the driver makes two return journeys between these towns.
[image: Description: publishing$:TYPESETTING:Project Code:Harpercollins:PDF to Word files:Busy_Ant_Maths:INPUT:Sample:Icons:jpeg:1 copy.jpg]• Say: Tell your partner how long the driver spends driving the bus. (5 h 12 min)
• Ask: Who can come to the board and show the class how they found the answer?
[image: Description: publishing$:TYPESETTING:Project Code:Harpercollins:PDF to Word files:Busy_Ant_Maths:INPUT:Sample:Icons:jpeg:4 copy.jpg]• Ask: Who can think of a different way to find the answer? Take feedback and write on the
board: 1 h 18 min × 4 = (1 h 15 min × 4) + (3 min × 4)
                                      = 4 h 60 min + 12 min
                                      = 5 h 12 min





• Say: A third bus journey between two towns takes 58 minutes.
• Ask: Who can find a quick way to calculate four journeys of 58 minutes?
[image: Description: publishing$:TYPESETTING:Project Code:Harpercollins:PDF to Word files:Busy_Ant_Maths:INPUT:Sample:Icons:jpeg:1 copy.jpg]• Ask pairs to discuss the question and to share their solution with the class.
• Take feedback and establish that 58 minutes is two minutes short of one hour, so the answer is
found by subtracting four times two minutes (= eight minutes) from four hours which is three
hours and 52 minutes.
[image: Description: publishing$:TYPESETTING:Project Code:Harpercollins:PDF to Word files:Busy_Ant_Maths:INPUT:Sample:Icons:jpeg:2.jpg]• Display: Slide 1 showing the problem.

• Ask: Who can come to the board and show the class how they found the answer? (1h)
[image: Description: publishing$:TYPESETTING:Project Code:Harpercollins:PDF to Word files:Busy_Ant_Maths:INPUT:Sample:Icons:jpeg:4 copy.jpg]• Ask: Did anyone have a different method? Take feedback and establish that the most efficient
method is to divide seven and a half hours by five.



Individualised LearningPupil Book 5A: – Page 98: More time problems


Refer to Activity 4 from the
Learning activities on page 203.





Plenary
• Discuss the importance of identifying the appropriate operation or operations to answer a
particular question.
• Read through some of the problems that the children have worked on independently. Choose
children to come to the board and to write the calculation they made to answer the question.
[image: Description: publishing$:TYPESETTING:Project Code:Harpercollins:PDF to Word files:Busy_Ant_Maths:INPUT:Sample:Icons:jpeg:1 copy.jpg]• Ask: Who had a different method for working out the answer?
• Say: Tell your partner how you can check your answer. Take feedback and stress the importance of using the inverse operation to check answers.




Overcoming Barriers
	• Where children have difficulties recognising the calculation(s) required to answer the word problem, ask them to visualise and 	 then describe what is happening in the problem.
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